Solutions => Solvi nﬁg;mdt%aﬁc a%cﬁio nS
XTRA +FRACTLCE

fa)] X246 +5=0

X+ 1) x+5)=0
X+1=0 or X+5=0
=-1 A=-5

b) 3x2+Tx+2,=0 MuHple Add
(3%“+19(Xt-6?(v+2)=0 © >3 ~
X(3%+]) +2(B8%x+1)=0
(3x+1)(x+2)=0
3%x+l =0 or X+3=0
Bx==L X=-2
A 3
X = -1
= 3

L=C
6="T

X
L+

———



&) Bp*=IIp-20=0 Mulhply Add =H5xHd =0
83 s +'4p€“20)=0 ) S R Ay

QSPE)‘D'"ﬁ '+“‘|(P-5)=Q
(p-S)(3pt+4)=0
L}

-5 =0 or @p:— =0
P33 -0
ey
P73

d) (X+3)Y*~25=0 _%¥ Specicl fse

L+ 3)‘5%’[(%*"3)*1-’5] L;,'P@{ 'F?egence of Q%uares
(X=-2)(X+B8)=0

X=—2=0 or X+8=0
X=2 X=-%

OR Pl in Geneval Form & i%cﬁroré
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—1 +29 =-10

- g ]
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8) \Q:: T+ =0
MZ*+ 1TTM + 16 =0
M+ 16) et ) =0
M+ =0 or M+ 1=0
M=-\o ~M=-|

) —3T7a+4Ha? +q Hulh 13 Add =L x33e=36
Ha>-31a +9 O -37 —1L +3=-37
(Lloa..\age-%q F D=0
a(Ha-D-a(Ha-1)=0
(Ha-1)(a-9)=0
Hao-1=0 o¢ Q g
o =1 =

vl
a=d-

Ch



b) 4%*¥x-5=0

{a) X2+ 8x-9=0
X%+ 8% =9 e
(X*+8%+10) =4 + 16 XT-2x=3
(X+4)*= 95 Y
X+4 = 05 -2+ )= B+d
X+4=*+5 ' ey
Xx=-4£5 (x-1)% = B+4
X=-H4+5 & X=-4-5 o5
X=1 X=-9 (x=1)% = %_
C) X*=6X-2=0 X=t=—si g
X*—oX =2 .
XZex+D=2+9 A=E S
(x-3) = || ;
X = 31N F
X=34+01 &b x=3-I1 % x=2
X=2+3 & x=2-8
X= 1 X==L
2 2



d) Gx2-12x-32=0
Gx2-12x= 32
X‘i'--—-!c-%sc = 32
9
“4x =32 Clowestterms)
(x ‘:bu—_g;) Lr
(x 5_) = |3§ H(o

(X 2) \36:, 36

(x_ ;__):

36

2 =4
3
3
X=2 2
3
X=2+2 & x=2-2
3 3
X=2+G X=2-5
3 3 3 3
X=1_ hes =l
3 3






g) 5= X2+ H4X |
X2+4x-5=0(6F)
X*+4x=3
X2+ x+4) = S+4
(x+2)* =19

3
X 1"" A X = EL
- o

X244 Ix4+1 =9 + 1
2 e 4 e




3. a) O 2x*+8x—-24

x=— bt \g b*>4Hac
2aQ B
X = -8F [(8)24()24)

2)

T
X=-g* -J_QSQL

m
X=-%% G
L}
X= -8+l © X=-8-16
_ H o

= by
x= 2 X=-(



b) O=06x*+x-I
Cl"""(b') b’:j_) c=-1

X=—-bX \ b*-Hac

th
=-A+ JQ)Za@)X=1)
2(6)

x=-LtJ]+24

|2
X=-4%t {25
12
12
X= -1x5 & x=-i=5
X= M4 or 4 2.

5 A=t —OF .
i 12 2




a=4;b=-6b; C=8

X=-b*t{b*>Mac
2 a

rX: __l: .._(j '2._L‘
2.C\)

g e CD ~H4(0.5)C1)
- 2(05)
X=-LlEN1+2
1
3
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+
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2
2C\)
=-2Ey4+%
2




) 6(2-x)=3%*+ ex
12-X = 3X2+6%X
O= 3%A*+6xX+6x-1 2
O=8%*+12x -
o=i3, b=l2;j c=-12

X=-b¥ {bh>-Hac
2.0 :
%X = -12.F N02)24(3)G2)
X

| 2(3)
=-j2 % LH'—H-H%

A= —1D X ,.| 23%

©
X = —12% J|44x2

=
x=-12% {2
&
X="2E2{2
1
X=-2+t9[0
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